Math 240 - Quiz 8 Name keg
March 31, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
April 5.

1. (5 points) State the recurrence relation that describes the coefficients of the power
series solution (centered at z =), and write the first eight terms of the power series

solution.
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2. (5 points) State the recurrence relation that describes the coefficients of the power

series solution (centered at z = 0), and write the first eight terms of the power series
solution.

v +23y=0
IS co
S n Y n-\
tﬁ:' >_+ Q“X 3 5 - 24 NQA, X
n=0 n=)
© 90 3
-\ N4
O = 2 Y\Q“ Xh + z Q“X
h=) no .
REF\.AQE Repuact N
N LONTH AL W™ -3 ‘
. ‘ ®© .
oo
< N o - Q P
= X A+ n-3
ZJ("\*\\QV\*\ VZ-:\S
nN=0 C oo -
. Loon
3 2 V (\I\*\\O\ x QY\-S" X
& \ AL1Y
- O\-\ A (aaa)( X 3&3% "o3 L ’\
_ RN (VYO s Oz ™ Oy N=3N0,-
qo‘: A(ZB\TQARS \
) )
0, =0 — /Q&/ﬂcm& O
= T \
O 3 O \ QQ\X 5(\'303 > « [(\5
\ 3 ] '\/‘x\s Q)‘(
Gy = Ty M2 S - :
a\‘- . Qe ) 30&3:on\- L\ X T \_\ 6X
\ \Q \ Y
g = O o N
5 ~ 1.8 AR 4,819 \6
0(9 - o . —
N
Qt‘{ = O ¢ \\\ —_ °
A LA a )
QB: = 6 Q\_\ L\ % °



